R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4923.dwg, TX-4923

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

DIRECT GLAZED FIBERGLASS DOORS

SINGLES w/ SIDELITE(S)

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET #

DESCRIPTION

Typical elevations, design pressures & general notes

Door & Sidelite panel details

Elevations

Horizontal & Vertical Cross Sections

Vertical Cross Sections

Frame anchoring

Hardware details

Components

V(O |IN|ON A |WIN|[—

Bill of materials & components

112.25" MAX. OVERALL FRAME WIDTH

SSRied
E%* "E 9 .:
A IS
S8 i
Fu 5
b1 oK
. H
204 iz
S .W" £
31\» ~, He)
(V % Q
III{?KS.{‘..“'.: Z
NMrpnae™

98" OVERALL FRAME HEIGHT

_ %5
2 &z o) X
5 38 .
o (o]
o X X o
q o
ox X0
CONTINUOUS HEAD & SILL

OX/XO

74.75"x 98.0" | +40.0

OXO

112.25" x 98.0" | +40.0

m:n
LN
£ 0
Bo o [i4
ES o i
2 & W
wu UM ©
L O Lr G
u.m 5
n - J
5 E oo Z
T Z 60 2
(<= <:ctmpn ©
b 559 0
2 o ©
2> 0
0~ - u
Z0m o
” om o
ﬂ? UN'O: o
3 2835
5 amg (o]
a 250 ©
o 50c¢ E
& Doa g
@ m
c 1)
NN
3 ]
3 =
0
o

CERTIFICATE OF REGISTRATION # F—11852

[9p)
o
(S
n
o Lé—'q
08 s
== | 32
Qn .. =W
a2 |5 =©
I\ﬁ mL,_]QB
0no S| 3
50: uJLum
L |n A
D12 Fx
O )
o a2
9 o %)
= =W
o g £
@
& &
>_
] (o2
(1]
Q
(o)
&)
O
@
S o
o |Z
o
©| [
| 2
| @
4
o
2
q
a
S
R
=
©
N <T
O
un
_lo
z

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4923

SHEET 1 oF 9

© 2019 R.W. BUILDING CONSULTANTS INC.




R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4923.dwg, 2.3

3.45"
04" —— |=— INTERIOR
HEEEEEEEREEER NI
IHaRH b 2
|ﬁ||n\|n||) 7 < ]
\ EXTERIOR
CAP (PVC) STILE (LVL)
/"1 "\ HORIZONTAL CROSS SECTION
\2/
35.75" MAX. PANEL
WIDTH
24.813"D.LO.
“ WIDTH
<
| | ]/2!! |
‘ INTERIOR ~ CHASSBITE
I N
|\ \ /
% 8 = || \ i
L]
5 = [~ J / /
~ I
0 ALUMINUM SPACER
D T EXTERIOR e
o i E—
£ 3 ot TAPE
< 0 C) GLAZING DETAIL
< % N ‘
z 5 S ©
] ®
0 Oj

ALTERNATE DEADBOLT SPACING*

—— 3/4" OVERALL GLASS THK.

AIR SPACE
1/8" TEMPERED GLASS

SEE DOOR LOCK
HARDWARE TABLE

40 PLASTPRO DOOR PANEL

@PLASTPRO SIDELITE PANEL

— KNOB: YH COLLECTION
DEADBOLT:  YH COLLECTION
% | KNOB: SIGNATURE SERIES
KWIKSET ™ | DEADBOLT: ~ SIGNATURE SERIES (980)
KNOB: F-SERIES (F51)
SCHLAGE | bEADBOLT:  B-SERIES (B60)

FIBERGLASS SKIN: 0.075" MIN. THK.
FOAM CORE: XPS FOAM (1.3 PCF MIN. DENSITY)

* NOTE: KWIKSET DEADBOLT MAY BE SPACED AT 5-1 /2" ABOVE KNOB
ON SINGLE DOOR ONLY (MAX. DESIGN PRESSURE = 50 PSF)

TOP RAIL —|§

(COMP.)

FIBERGLASS SKIN —||.

1/8" TEMPERED GLASS

EXTERIOR

FOAM CORE — |

BOTTOM RAIL — |

(COMP.)

'I .2||

INTERIOR

] .2"

/"2 VERTICAL CROSS SECTION

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

Documents Prepared By

BUILDING CONSULTANTS, INC.

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC
FIBERGLASS DOOR
PART OR_ASSEMBLY:

PRODUCT:

DOOR & SIDELITE
PANEL DETAILS

LFS
BY

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

1

NO,| DATE

REVISIONS

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

2/

DRAWING NO.:
TX—4923

SHEET 2 oF 9

/ / y |

© 2019 R.W. BUILDING CONSULTANTS INC.



“ON| SLNVLINSNOJ aNIaing "M'd 6102 @

ZS8LL—4 # NOILVYLSIOZY 4O 3LvOI4ILY3D g SNOISIATY ETLTIRTETY =

SYIINIONI TVYNOISSIJO¥d 40 a¥vOo8 SvxXaLl o| . 9_

B L B SNOILvATT3 S47|_3000 o¥i/o81 810z 0L 31vadn| 0z/9z/5| L |T|4|5 |2 R
PRI KIGNISSY 90 Lavd N R

SBSEE 14 ODMWIDA 0€Z Xog .o.a\&\h\&u N = g ¥
"ONI ‘SINVLINSNOD 9NIGTINg AN . z | 3_

4004 SSV19439l4 MR IER
SZTLYOL# '3'd SvX3L ONI 0dd1SY1d wld|o| |2 L
‘J'd IPIWYDS "4 uopuk :Ag pedpdeud sjuswnooQg 119NA0Y¥d 518 W m W %

o0

4
5

2
5

ELEVATION
0)(@)

(1
\&/

&

(67
NGV

(5
\&/

(2 3V a4
5 5
ELEVATION
XO / OX

(N
\5/

£'¢ 'BMp Ez6p-X1\sbuimel - D\joedw-uoN paze|9 122414 £50L ¥A - IALNAL - \LNINVINYId du| ‘oidise|d\sIualD\y



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4923.dwg, 4.3

DRYWALL — _ 0.15"CSINK
_\ *‘ (vP]

INTERIOR

/ DRYWALL

SEE NOTE

o |

N Z

=~ ~

e ————
e —
e ——

<
i
]

A

2|4

A

®

N

1

EXT. SHEATHIN

e
RS

/ 1"\ HORIZONTAL CROSS SECTION
w Outswing shown (Inswing similar)

NOTES: ! |
1. Spacing for item J & L: 6" from each end and 4 more equally
spaced along sidelite jamb (6 total).

2. Spacing for item J @ head &sill: 6" from ends (2 total).

SEENOTE 1

//

N

D

/~5 \ HORIZONTAL CROSS SECTION
W Outswing shown (Inswing similar)

: 7
7 // INTERIOR
-/ Pa™

EXTERIOR

(50

/~2"\ HORIZONTAL CROSS SECTION
w Outswing shown (Inswing similar)

JILGIL LG TG

\\\\\Q\ AN N

SN

77

%/ I
;

7”6 \ HORIZONTAL CROSS SECTION
w Outswing shown (Inswing similar)

SEENOTE 1

EXT. SHEATHING \ |

EXT. SHEATHING ‘\

EXTERIOR

y

¥

y

y

\\

7“3\ VERTICAL CROSS SECTION

W Outswing shown (Inswing similar)

EXT. SHEATHING \ |

INTERIOR

\\-}'\;\:}\llll

T

F SCHMID’

z

O X
: z% K
& et L e
B Kin E e
M

N

R

/DRYWALL

SEE NOTE 2 @/

INTERIOR

EXTERIOR

A\

7“4\ VERTICAL CROSS SECTION

W Outswing shown (Inswing similar)

U
o
s 0
el
o 0 ES
5% o 2=
hu O M 0T
.o z Z
w SN i
0w o2 =
Sfé E oo <
8X 284 Zz
cr gt Q90
2 J 5@ 0k
a>r’) mu:
Zow th
Qo g
5 8R. o
m o D_I&J
O xz
hel (o) L
28 5y
o | . c
a = o0 9.
[0 D =L Kl_
& mon 8<
] § ml%
t 0nic
o <@
R b
=] Ho
(6]
o]
o
<
(\)U)
=
s =
wo
=Z0 S
=8 =
¢ |5 832
a2 = qm
=S |18 =
) ()
[O) wl =
25 |9 S8
- S NI
={ I IS S
o)
8 I
o &
@ <
o o
>—
Ll
"
Q
o
&)
O
X
Sl v
ol |z
o
2| o
o
Q@
(a et
2
=
S
a
>
Q
\L]_l
©|=
N[
\|O
wn
_lo
=z

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4923

SHEET 4 oF 9

© 2019 R.W. BUILDING CONSULTANTS INC.

/

/



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4923.dwg, 5

\\

INTERIOR

EXTERIOR

20)24 ) 27

P ) WOOD
D ) CONCRETE

/1" VERTICAL CROSS SECTION

w Inswing Sill

NOTE:
1. Spacing foritem J & L @ head & sill: 6" from each
end (2 total).

A\

INTERIOR /}( EXTERIOR
SEENOQITE 1 &

AW
5

—)

i _u)l

r

N

ALV WA

=
o
O
o

/"5 "\ VERTICAL CROSS SECTION

\y Inswing Sill

29222

//

INTERIOR
y/4
@ INTERIOR \/\

EXTERIOR

EXTERIOR

AUV ARV WA

/" 2"\ VERTICAL CROSS SECTION

m VERTICAL CROSS SECTION

W Outswing Sill

w Outswing Sill

WOOD/CONCRETE
SUBSTRATE (TYP.)

\\

INTERIOR

ON

EXTERIOR

.

262

2NN

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

\\

P ) WOOD
D ) CONCRETE

/~ 4"\ VERTICAL CROSS SECTION

w ADA Sill

A\

INTERIOR

[\
‘///////'////.’{
H Q."ii;r

O

SEE NOTE 1

EXTERIOR

7”6\ VERTICAL CROSS SECTION

SEENOTE 1
P ) WOOD
D ) CONCRETE

/"7 VERTICAL CROSS SECTION

W Inswing Sill

w Outswing Sill

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

xx n
[T v
= =%
OQ o=
&9 5 =2
a2 |3 =5
GS S| O
@) wl =0
2E (9 &
Om |« S
= L |
(&)
3 e}
o E
2 <
o o
D>
] [1a)
W
(=)
<)
)
)
[
Sl o
ol |z
©)
2 [
o
] @
o
o
i
S
o
S
8
N L
N =
NE
wn
_lo
b=

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:

TX-4923

SHEET 5 oF 9

© 2019 R.W. BUILDING CONSULTANTS INC.



"ON| SANVLINSNOD aNIaiing "M'd 6L02 @

2S8LL—4 # NOILVYLISIOFY 40 3LVOI4ILY3D }m SNOISIAIY
SY33NION3 TVYNOISSIH0¥d 40 Q¥vo8 Svxal 31vd [ON| o
L6LE'659°CLE +ON suoyg ONIHOHONY IHveid S31| 3000 2¥1/281 810z 0L 3ivadn|oz/9z/s| | Ny uls e & 9_
S — [
SSepr v bURRN 0T XU .o.n_\§ ‘X18W3SSY ¥0 Lyvd o= . |2
"ONI ‘SLNVLINSNOD 9NIaling \K. ﬂ < g | 6_
4000 SSV19¥3dId MEREARI R
£2LY0L# 3'd Svxal ONI 04d1SV1d ild el g|E &
‘J'd ‘IPIWYDS ‘4 uopuk :Ag paspdaid sjuswnosoq :12NAao0¥d 5|3 W w w %
(dAL) "XVYW )
el = (dAL) "D0.871
:0
_ |l | | | l l |
- 5
©)
= T - <
M — e | A‘I_
- — <!
- — <
= § m
o
e S 8 = QO
- N .
T E o) an = x -
o © = E @)
=
_ @@ -
. <
|‘|_
— S | ‘L
— - <
a
=
< —
] o £y
o =
g =
1 s
i —_
I I I I I I
- lﬁ G
e} m m
S
-
@)
<
<
=
| (dAL) XYW * wAn
= lan) D'0.8L ™
h 4 9
| | | | | | | \U
ﬂ m
= o
- o o
©E 2 Q=
z S A
= — 3m/u X
> <
= — =] O
~
- H4l-- 3 ~
— —_ < <& ey
=1 2 x| 2E >
o
Ex s T 5 <|o
~ = M o =< m ...W.. =
< E 23 >|©
< xn O a
wi — KO =
T L W -
_ _ _ _ _ I H £Z
o=
oy
23d
m >
=)
B o
°s

9 ‘Bmp'gzer-XL\sbumesq - D\idedw|-uoN paze| 19311 L50L ¥ - IALNIAL - S\LNINVINY3 2u] ‘oadise|d\siuai|D\y



‘ON| SINVLINSNOD 9NIaing "Mm"'d 6102 @

ZSBLL—4 # NOILVMLSIOZY 40 3LvOIILN3D 3 SNOISIATY o on
SY3IINIONT TVNOISSIH0¥d 40 Quvog Svxal SUVI3a FYYMAYVYH m}..: 3000 5ui/081 8107 0L 31vadn[ 0z /9z,/5 ] 1 o 5 W % % 9_
; 3 6 ii6 - AN W
S6SEE h..murmomm_mo\wrnmvnw Womw O:M\Swg. A1GN3SSY 40 1¥vd % M == P @ S
"ONI ‘SINVIINSNOD OSNIaTINg — V ol |2 v_A 7_
Y 3 14 AR
€ZLHOL# 'I'd Swxal ONI 04d1SYid i Gla| m e
‘3'd ‘IPIWYDS ‘4 uopuk :Ag pedodaud sjuawnooq :19Na0¥d 218 W m x z ~
h
 esevapes 3!
~ AN oo 3% N
£ 5
m h.. z mNP¢Oom.oo:.:”oao:.»m.
\-o.;ooo.:oo.:.....o.. ]
2 TainHoS 4 NOONALZ
“.\* -.;- oao*bﬂ‘\ =3
- k.&w.... A
--NV\L.\.W..H.:..O...WW.%‘
ﬂﬁﬂﬂ?))%)?)..()ﬂ(
u
A
= ol
® G m
[ ] N O w
1T 1 = nNu M —
= o
or:o Ty
w A -
7 @
\ E /
[ A ] =
— B H— 0
A =
gWVr 40 dOL ' . . o
WO¥d.S286 T STL6e | STL'8E
u
W <
)9
® SETIES
Oz
= aWVT 40 dOL Ol) -
—= T i Al a3 Y\
WGC9'8Y S=
a —_—
W, | , _\LE 35 =
_.* . m ] w w H
v \ &5 all
g LLy
D= = 5 [
SQEE <
w Ao W
a5
D S
<
X
3
< .
o
aQ
>
=
9
w
. olcy . w« @ , &
) I~
<
A g \ S ANVATE -
= , == H=H |
@ _umﬂ_ W _||”" [m] ‘ L _HIDEH m = ~ - = m M =
T 1 77 g e T % w \ E —
ﬂ /\ T < /\ o _ 1 o =
| g 3 ® ¥ 2
¥ : ® :
& L Oy oy & g s 3
b W, a
s s
P ® :
o

L 'Bmpgzep-X1\sbuimesq - D\idedw|-uoN paze|9 1311 £S0L ¥ - IALNAL - S\LNINVNYId du] ‘oidise|d\siualD\y



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4923.dwg, 8

4.56"

,—— 14" =

20 INSWING THRESHOLD
Endura (Z-Series)

SIDELITE
ADAPTER

4.56"

- 137" =

24 INSWING THRESHOLD
Columbia

4.57"

[T =

—-—‘ 1.23" ’——

| U

INSWING THRESHOLD
27 DLP

=_——

4.56" !

INSWING THRESHOLD w/ SIDELITE ADAPTER

21

Endura (Z-Series)

SIDELITE
ADAPTER

p
! 4.56" |
25 \ INSWING THRESHOLD w/ SIDELITE ADAPTER
Columbia

i 212"

ZITﬂ

—J I
U = ]
! 4.57" !
28 INSWING THRESHOLD w/ SIDELITE ADAPTER

DLP

22 OUTSWING THRESHOLD

Endura (Z-Series)

4.56"

- 1.4"

2% OUTSWING THRESHOLD

Columbia

4.55" —

29 OUTSWING THRESHOLD
DLP (QOSR)

l‘— 1.75" ‘J

SIDELITE
ADAPTER

ANy,

*:2

i .
O .
.....

|

J

—1.5" ——

4.56"

23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER
Endura (Z-Series)

e

4.56"

30 ADA THRESHOLD

DLP

sl

b
0N
% i
Yo B 4
EL o y
E < n Z
o . .M Z
0w O M &)
d Z2 . &
L,_w _h_,_'mh-'
%) — . |
68 E oo %
v 200 2
cr g£to Q9
> 550 0
i | o -
2>5 8
n-2 W
5§8® ©
& oo f
T 28T 5
o 20, ©
2 2456 O
o S50¢ %
& Doa g
s X °
c 7]
2 @ N
g ]
3 =
0
o

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC
FIBERGLASS DOOR
PART OR ASSEMBLY:
COMPONENTS

PRODUCT:

LF
BY

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

1

NOJ DATE

REVISIONS

DATE: 4,/29/19

SCALE:

N.T.S.

DWG. BY:

MT

CHK. BY:

LFS

DRAWING NO.:
TX—4923

SHEET 8 ofF 9

/

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4923.dwg, 9

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 2X FRAMING (G >=0.42 WOOD

C 1/4" MAX. SHIM SPACE -

D 1/4" @ PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL

G 3/16" @ PFH ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

J #10 X 2" PFH WOOD SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

P #10 PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL

1 POLY FIBER JAMB COMP

3 MULLION (PLASTPRO) PVC/LVL

6 DOOR SWEEP PVC

7 WEATHERSTRIP FOAM

9 #9 X 3/4"' PFH WOOD SCREW STEEL

11 4' X 4"HINGE STEEL

12 LATCH STRIKE PLATE STEEL

13 DEADBOLT STRIKE PLATE STEEL

14 10-32 X 3/8" PFH MACHINE SCREW STEEL

15 #12 X 2-1/2" PFH WOOD SCREW STEEL

16 #8 X 2-1/2" PFH WOOD SCREW STEEL
20 INSWING THRESHOLD ALUM/COMP
21 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
22 OUTSWING THRESHOLD ALUM/COMP
23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
24 INSWING THRESHOLD ALUM/COMP
25 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP

1 26 OUTSWING THRESHOLD \ ALUM/COMP

27 INSWING THRESHOLD ALUM/WOOD
28 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOD
29 OUTSWING THRESHOLD ALUM/WOOQOD
30 ADA THRESHOLD ALUM
32 #10 X 3" PFH WOOD SCREW STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

——] 1.25" l«

w
\'\\:\-\\}\\.’\1 o R
oot S -
S 2 go , £y
S 12 ESX g9 uw
;,5'5:3. T 5. .8 z<
qws 6 ouwo 9m®m Q9]
4% B! LR
. e . T
456" i 2 405 3T
4°: Vi 35 z8a 23
—_— — o, H > bLge ak
1\/&-.. s 2>m U
g2 =F , s 20n 5@
_ ‘ ’ ‘ zlll*‘*';_.x'; s 3 R - o
. ':l- N NS o x2
s ; . H o Zz 0 K
| | S s 90
I 2.44" | S E‘; :jjd_‘g: Euw
& Do gg
mi=
POLY FIBER JAMB g § niE
Plastpro PF Jamb 2 0
5 e
(4]
o
(a)
-<—'|'5"——>
e
b n
g ) 28 | =E2
Z5 E=
4 on L
/ =
% EU) >l <O
‘ 53 [ os
‘A Lo
¢ %5 3% |& SO
2] Lm |9
™ L T2
- P o| @
E//Z ' S o
i 3 3 &
77 X 04 <C
/- % -; o o
L4705 774 4’
el
Ul =
2.5
S
INTEGRAL MULLION 3
Plastpro (3-Piece) &
X
S |»
B |2
o
2 @
S @
4
=
L
CONCRETE ANCHOR NOTES: <
g
=)
&
S
™\
n

. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

—

NO.| DATE

TTW BUILDEX | 3/16" 1-3/4 T /2

DATE: 4/29/19

SCALE:  N.T.S.

TAPCON® [ 1/4" 1-3/4" % 4"
ELCO " " n u
utiRacoN® | 174 1-3/4 1 4

DWG. BY: MT

CHK. BY: LFS

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

DRAWING NO.:
TX-4923

SHEET 9 ofF 9

© 2019 R.W. BUILDING CONSULTANTS INC.



